High Cloud (%)

|

| |

50

clhcalipsozon

0 50
Latitude

-20
£
= A
=
c
2
5
g
z
%

-80

OBS
— NP3
L ! — TRAGUSS
- 50 0 L TRAZ0O |
Latitude

crestzon

£
2
]
H
M
E .
o
=
Z
150~ -
OBS
— NPvs.3
L L — TRAGUSS
50 0 L TRAZ0
Latitude
cresszon
T T T
s
z
s
5
g
£
.
Il Il 1

przon

0
Latitude

T T T T T
80—
40~
60—
K} 220 |§
201 10
0 1 1 1 1 L Il Il 1 Il
-50 0 50 -50 0 50 -50 o 50
Latitude Latitude Latitude
cllcalipsozon clmcalipsozon cltcalipsozon

70 T

T
6o~ 100
_s0 _ a s
240 z g o
S 3 E
g g . A
E 30 % B § -0
E e =
20 o £ 100
0
OBS
— NPv5.3
L 1og L L = Tracuss
o 50 0 50 - S0 [ TRAZO § - 0
Latitude Latitude Latitude
creltzon crettzon rttzon
T T T T T T
701 60}
200
401~
g a a
g § H
2 ] 8
z 3 - E
= 3
s 0BS o
— Nrsa
1 1 — TRA‘ USS 1 1
- 50 ) —— TRAZO - S0 0
Latitude Latitude Latitude
crelszon cretszon rtszon
! T T T T
0OBS
— NPv5.3 &
§ 100 — TRAGUSS ]
£ AZO z
g 3
2 H
3 2
E |
§ 8
3 sof €
H
50—
1 ! 1 Il 1 1
-50 0 50 -50 0 50 D I‘ s
Latitude Latitude lsslng
hflszon hinszon hfsszon




60 o T T T T T T
ol
2
40—
E [ 4 of
€ S E
=t % B
g 5 zw
. < LI
: I
E 3 e
£ =7 < 40|
< g
< - -160 -
40— -
OBS L OBS
— NPv5.3 -180 ;
™ | | TRAGUSS | | — TRAGUSS
. . 50 0 AZO ) ) 0 L TRAZO
Missing Laiude Latme Lt
hurszon rahcrezon rahcszon
T T T o T T -
ol i
ol
3 B
B g 3
z Z. E
g Z :
o b &
z < £
-] H =
z 2 2
£~ E 2
z g -
2
ol |
OBS OBS OBS
— NPv53 — NPv5.3 — NPv5.3
L L — TRAGUSS 250 \ | — TRAGUSS 201 | | — TRAGUSS
S0 0 50 0 L TRAZ0 | 50 0 —— TRAZ0
Latitude Latitude Latitude
rlahcrezon rlahcszon rlahzon
T T
250
g
z g
a z
Z 2 ™
Z 3
3
o
150
| | — TRAGUSS
P P =0 0 TRAZO
Missing Missing Lot
rldszon rluszon rlutcszon
2 T E T T T
181 -
16 —
14 B
12 —
a lop E g
E 81 - = _ 100
: of E = g
z 4 3 2 H
3 2F E e
0 ‘ E
g oF E 3
; i 1 3 7 sol-
s E z £
£ 3| | @ =
< E
-lof- e 2
-2 —
b E
6l 0BS. i o 0BS o 0BS
sk — NPv53 E| — NPvS.3 — NPvS3
L L — TRAGUSS 0 L L — TRAGUSS L L — TRAGUSS
0 0 RAZ0 2 0 ) — TRAZO | 0 0 — TRAZO _f
Latitude Latitude Latitude
rsahzon

Missing

Total SW rad surface (W/m2)
S Z
8 g

0
Latitude

rsahcszon

300

00

Rad SW Total TOA (W/m2)

Latitude

— TRAGUSS
TRAZO

Missing

rahzon

Missing
rldscszon

rlutzon

Missing
rsdscszon



rsdszon rstszon rsttzon rsuscszon

T T T T
2101 -
20| 8
2001 —
E1s0 8
2 %)
gor 1 3
£ 140 B »
3 2
S0 - g
G 100~ J £ -
] &
£ 8o
60 —
40 4
oBs
201 — NP3 B
| | | — TRaAGUSS
=0 — TRAZ0

0
Latitude Latitude

Missing Missing
rsuszon rsutcszon rsutzon taszon



